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Complicated Genetics Patterns Homework  
 Biology
Name ____________________________________________________   
Date ___________

1.  Two black mice (BB or Bb) produce some offspring that are black and some offspring that are 
white (bb).  What are the genotypes of the parents?  Show a cross of the parents below and then give ratios for the offspring.
Genotypes 
Phenotypes
2.  When homozygous red cattle are bred with homozygous white cattle, the offspring have both red and white hairs.  

a. Name the hereditary pattern these cattle are exhibiting.  ________________________________
b. What would be the result of a cross between a red cow and a cow that has both red and white hairs?

Genotypes 
Phenotypes
3.  A red flower (RR) is crossed with a white flower (WW). If these flowers show a hereditary pattern of incomplete dominance, what are the genotypic and phenotypic ratios for their offspring?

Genotypes 
Phenotypes
4.  Following the hereditary pattern of incomplete dominance above, what would the results be of a cross between 2 heterozygous pink flowers (RW)?  

Genotypes 
Phenotypes
Use the following information about blood types to answer questions 5-7.

Phenotype
Genotype




O


OO



A 


AA  or  AO



B


BB  or  BO



AB


AB

5.  A woman who is heterozygous for type B blood marries a man who is heterozygous for type A blood.  
What are the possible genotypes and phenotypes of their kids? Show the cross.
Genotypes 
Phenotypes
6.  A woman with type A blood has a child with type B blood.  What are the woman and child’s genotypes? What are the possible genotypes of the father’s blood? (You don’t do a cross for these).
Woman = 





 

Child = 

Father’s possible genotypes =
7.  A woman with type B blood has a child with type O blood.  What are all the possible genotypes of the father’s blood? You do not need to show a cross here! 
Woman = 





 

Child = 

Father’s possible genotypes =

8. Colorblindness is a recessive sex-linked disorder. Show the results of a cross between a normal male, and a heterozygous female (normal, but carrier for the allele). Give phenotypic ratios only for your answers – be sure to separate males and females.

Phenotypic Ratio

9.  A man who is color-blind is married to a woman who is a carrier for the disorder. Show the cross and give phenotypic ratios only for your answers – be sure to separate males and females.
Phenotypic Ratio

10. A colorblind man, Fred, marries Suzy who has normal vision. Suzy’s mother had normal vision, but her father was colorblind. 
a. What is Suzy’s genotype? 

b. Make a punnett square showing the likely prospect of colorblindness in Fred and Suzy’s future children. Give phenotypic ratios. 

Phenotypic Ratio
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